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(D)1 ~

(E)2~

(C)3 ~

(A)4 -

Delco @4 A2 T8 T4 > BHpFefeid fABERRTI P EHE - - a3 o
T EER G E > TP ﬁﬁﬂﬁéﬁ&igécS%mq\ﬂxiézbéﬁﬁijf bR TAF MR
R A it P —%";E')

(A)IR. & 5896 % @+t 1 & 4 ¢1$102.60

(B)2 £ chf @ 74 & A$150 % 83 7 4:7$200

(C) 1 & t5 :1$100 % fE >+ 1 & % 71885

(D7 § E$1,000 ehT s » # R ff- & dF G = 4 5 850

(E)7h. £ 571$2,000 % &3t - & % ¢71$1,800

TR SRR AR?
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(A % (B)#i Cist D)F ™+ (B R4 8

PREHZAR S E A ﬂ+mﬂﬁ%’£&#%?1%ﬂﬁﬁé?ﬁ%$1

A)b2d & B)hid, C)F b 2Rk D)~17¢pE B)tt ¥4
TP g2t d 2 2 ik & & (Lifecycle costs) ?

(A) DRI =N N (Sunk COSt) (B)Pﬁ\:’ql = A (D|Sposa| COStS) (C)k ]tha 13,1:} XA
(D)i~#p 3 Fa k  (E)1 2+ %2




(A5~ — B2 kpb ¥+ 5$16,000  7F3-& & 5 5 & » BAE 5$3,000 & &2 18 (T2 mig &
X 5$4,000 0 FHFHFEF L 12% > Pl F2REL?
(A)-$28,717 (B) -$29,717 (C) -$30,717 (D) -$31,717 (E) 1 + % 2=

E)6 - 31N 2P EFLIFARAMAED Y oA -3+ £$26,000 % T 4
$2,000 F 3 & {57 ©$12,000 - B # 4= #) & %$29,000 > H# 1T+ 2$1,200 F 3 & {5 L = )

& 1 5 $15,000 o & & 15 15% > r1 & @A 47 > AER o 7RG VA A % B AR

EXRNEBL 2
(A)A > $9,932 (B) A - $9,546 (C) B » $9,425 (D) B » $9,657 (E) B » $9,582

(B)7~ F&EFIF12% % 2B 4Ffl- o A B RABI Z 6B chiRJIFEFEIF?

(A) 417 & &5 3% F %41F 3.04%
(B)4 " & &TIF 4%~ 7 A1 4.04%
(C)4 1 % &FI% 5% - § 4% 5.14%
(D)6 7 % & 15 7% ~ & %41 % 7.62%

(E)6 i1 & %1% 8% - F =45 8.25%

(B)8~ — ¥ F2 B 510000 FF3-H /5 6% > BARAELS0 Ak £F & BH 4
$2,525 ~ $2,525 ~ $2,525 ~ $3,840 ~ $3,840 ~ $3,840 2z & » FAKLFIHF 5 15% 0 B &
Fo & E KRR MR FT 2 & B (annual worth) % @?

(A) -$424.2 (B) +$424.2 (C) -$404.2 (D) +$404.2 (E) +$384.2

(A9~ F2P 1 18REfIFw TR I uEEre FRE - Z2P 255 34% B g
FERRFLF AL AF FFI5 (cost of capital ) % #?

(A)12.7% (B)13.4% (C)14.2% (D)14.8% (E)15.2%

(C)N0~ A1 T allgr He = A& £8400,000 gd = & % - & 55 H 2$95> 2 155 &L
$3°B 1 fE A ~F E$750,000 0 Hdd A L FH 23500 F EEHSL o KA 1 R R
EHETH FA4ERL A S HE2E IS 10%)

(A)12,785 (B) 13,245 (C) 14,584 (D) 15,236 (E) 16,954

Bl F~ERELLFTH (Bdy) i BN FHPCHETE*F DL E L[ BR* THRMA
FEIR S £ 2
(A) Moving average (B) Exponential smoothing  (C) Bayes methods
(D) Delphi method  (E) Box-Jenkins time series
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(A2 -

(D)13 -

(B4 ~

(C)5 »

(C)16 -~

(C17 -

(D18 -

(C)19 -

(E)20 -

(D)21 ~

%A TR (kdg) &3 fE< 2 ¢ & 4k% (stable central tendency ) & 73 i+ 2 S8 ¥
B pF o ol dp BT R e R AR PTE T ¥ R
(A)A 0012 032F (B)fi**032052/F (C)f*042062F
(D)4 > 05 2072 @ (E)4> 062 082 F
- A2 3 8% L D=10,000 units - E G G f R AL HEH §$10 2 40% > F = ITRE
Fl > & 58500 0 AIE gt R S w7
(A) 1,285 (B) 1,367 (C) 1,489 (D) 1,581 (E) 1,654

k2 gmd AP BEOQRS Y » F& &G A4 5= 2 0 PIEOQ §2?
A)H4&sa B BAAFKEM G Lr2- L+ CFArEHEH GE L2~ L
D)i Atz - L BE)RhAKEH 9 r2e L
FAAMEIL AN LFAB00F - foAN L FITO0N  FHEANLE I 600K

# z?

(A)pt 4 Z&z 1% 55 086 (B)t 4 A2+ 55 090
(C) 2 A a2 )% & % 0.75 (D)t 4 252 »cF % 0.75 (E) 24 A %2 »c % 5 0.68
e 47 3] (MRP > Material Requirement Planning) ® - # .78 & 2~ g Fiw?
(A) Final assembly scheduling (FAS)  (B) Capacity requirements planning (CRP)
(C) Master production schedule (MPS) (D) Operations sequencing (OS)
(E) Production activity control(PAC)
FHWPBVMOEHE DS AP PRIV Fp FRTHELZ DL
wEMEREELLLY ’ar%irﬁlo%waE CmERFRL2X 0 P REGE
516% » 2 H P EIRAKEL 5% A R L S 0?
(A) 48.596 % (B) 65.698 % (C) 49.698 % (D) 57.845 % (E) 55.698 %

Z pE4 & % ¥i(the just-in-time production) 3t T i e fE 4 A& = 54?2
(A) Job-shop (B) Flow shop (C) Mixed production system (D) Pull (E) Push
F-ETEZEAZAS26® P EFF 152 B > Bl 0104 B AT 51]1’?-%"?
(A)7 * 5 (B)* § & (C)2F & (D)gAdrps £ (E)L v rigt
TR fER AR P KR 1 TR T H T IO B D2
(A) FCFS (B)EDD (C)LPT (D)CR (E)SPT
BAFIRETPP FASDEE S - E¥ R BT HEE R TP NE
BAZE 60 H o F & f 5 R?
(A)0.45 (B) 0.55 (C) 0.65 (D) 0.75 (E) 0.6
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(A)22 ~

(A)23 ~

(C)24

(B)25 -

(D)26 -~

(D)27 ~

(A)28 ~

(A)29 ~

(E)30 ~

“ AfrB~ 2 ¢ P(A)=0.2» P(B)=0.3 2 P(AUB)=0.4 - 3 P(ANB)=?

(A)0.1 (B) 0.3 (C) 0.2 (D) 0.4 (E) 0.5
#7308 3l - 354 (type | error) ¥ 2 & 5 a=P{ type | error }=?
(A) P{reject Ho | Ho is true} (B) P{reject Ho | Ho is false} (C) P{accept Ho | Ho is true}
(D) P{reject Hy | Ho is true} (E) P{reject Hy | Hy is true}
BF- 4B p ¥ 35 BIRAZEFL T © oy T 2 {o(SSTO) 5 1000 - i jF+ = o
(SSR) % 600 » 2| =_i% #1c?
(A)0.4 (B)0.2 (C)0.6 (D)0.5 (E)0.3
BRI P o do X 5 R BE{Zna=CX, AX<b, x>0}2. F FfF 0 ¥y 5 5 ¥ R AR
{Wmin=yb, YA>c,y>0}2. ¥ {7 f% > | T 7]f@ i a0 27
(A)cx>yb (B)cx<yb (C)cx=yb (D) m 2+ # & (E) mF gt

A AR 2 Eﬁiﬂ%ﬁ—;\“ A S REEIZERE DY AR jZEREE
7% & ¥ {7 f#(basic feasible solution)2. & — $#ciE & 5 FHcz x5 @72
(A) &S0 i (B) W D355 Bl (C)Si2 Djos K@y jp%
(D)Si& Dj3= 5 i (E) 1t ¥3t
% - B AR LG n B a e n(ntl)/2 B & S pF(n nodes with n(n+1)/2 edges) »
H ] B B #Hthe minimum spanning tree)z. & s #icp 5 #?
(A)n-4(B)n-3(C)n-2(D)n-1(E) n
HAXPH HREEE RAM > & 2 3| [ &2 0 [ & 4 %[ JRj&_Poisson i 42 > H# % #A=3 >
=4 BRTZAEEF A AEFIEE10 A - EFA B FEIE L 20~ RIS
B AL P 2AMM/L HE)
(A)35 (B)25 (C)20 (D)40 (E)30
Bk X1, X2, X3 5 — &2B-p = 38 & fe B(n=3, p=1/3)er"g ¥tk 2 (b= & ) >
3t E E@Xy | Xg)=?
(A)2(B)3(C)5/3(D)4 (E)5
ABFERGF I A ERIH S GER L2 Ly ETHINEFERBFIUEHLIEL
P oo L¥mRmL Loz B K WYW,=?
(A)2(B)5(C)3(D)4(E)1
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(ACD)31 -

(CE)32 ~

(ACE)33 -

(AC) 34 -

# MARR=15% > ® # * ¥ £ 5 $20,000 > EH T 7| jp> B kb if 2 d o

OB A T RfE e

£ % N ) FEERENE(S) Lx26(F)
A -8,000 5,000 3
B -15,000 7,500 3
C -5,000 3,000 3
D -4,000 2,500 3
E -17,000 8,500 3

(A)A(B)B (C)C(D)D (E)E
EOP2LERFES ARSI EY AT 5

#4c% = AR(X) = 1,500%-0.05 x?

£ 4 +& = AC(X)= 1,200,000 + 1,000x - 001 x*» ## x 222 A o
P2AR L ERME . A rEV EFD IR

(A) B4 28 56240B)E5F 2 A E 5 7,260(C)E x4 & 5 3,240

(D)# 4 & & 5 5240 (E)& % 2 2 £ 5 9,260

ENP5EW 45000 % ApF E W HFp2 2L b0t B AOC 4T » P T
121 8,000 £ AASPHATE K o — o el i chg BB S A 5 125000 £ & 0 B3h 5 18
7 8 % 10,000 2 ~ > & & AOC 4 31,000 % ~ » £ &% 4 15%@22}5},@%?1%:;& H3

-
R RS

& &% B(3) AOC($)
1 6,000 -50,000
2 4,000 -53,000

(A) AW;=$53,200 > AW,=$54,456

(B) % % # 2 ESL=2 &

(C) AWp=$53,200

(D) AW¢=$60,000

B)#Z2fRFEgRFAAFLELCL T REEFA

- R MY R A813000 FE A 4E 0 HAEL$2,0000 F E 2R
g A 582500 FAFARMF 5 10% 0 R F 2

(A) Present worth=-$19,558.75 (B) Annual worth=-$6,273.90 (C) Future worth=-$28,635.80
(D) Present worth=-$17,585.42 (E) Annual worth=-$5,036.07
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(CD)35 -

(ACDE)36 -

(AB)37 ~

(CD)38 ~

(DE)39 -

(ABE)40 ~

- W 2R H 5 820,000 0 FEA G 8 F > HALE 5850000 & E 2 iF(FE

Aig Ak 2$2,3000 F £ 7 M e 2 o ¥ 288500 EALFAREY S L 25%i4F 110 B st 4R F 2

(A)Present worth = $1,078.18 (B)Future worth=$9,089.78 (C)Internal rate of return = 27.7%

(D)External rate of return = 26.12% (E)Annual worth=$394.00/year

— AR ATHE A MR - ATE B W A Aol 2 B 9HESE T § @ 28,000 £ & i

heed o Higpdite 2§ LRgend g > ME L HE- AER - T FHFEF 6%

SR o F X EAF- e BEFRWAITLATT 3P T > R WACC -

3+4 1:D-E % 50%-50% - 14,000 % ~ 1 H 4 4 > ¥ 14,000 £ = % i &4 F
1% 3" A FRRFEFHAF > EJF 6% L EAHFJ- e 2 P o

34 2:100%#F o = % p 3 AR 2 A4E B~ 28,000 £ ~ -

3% 3 100%F F o =& F LI 0.75%w G BFIER  ~ 28,000 £ & 0 FRisE K
B R4 58128 %~ > X607 o

T 7A@ ﬁ i Fx?

(A):+ % 12 WACC=6.659%

(B):* & 2 22 WACC=4%

(C):* 4 3 2 WACC=9%

(D):*4 2 2. WACC 3]

(E)3*% 3 2 WACC % =

— £ kR B 1 5 830,000 0 FFEA A 5 9F - A E A$2,000 0 AEE 4

87 REHHEF o EERRIF 12%7}5?‘] A EL e FRA e FELFITARG ARG

$9,000 » & & ¥ Hi v 2 qc F 5 $15,000 > FIF IR S 5 15%4F 1 0 B3 F 20 payback

period 7 #®?

(A)/i*:65% 68 (B)/* 661 69#& (C)/* 671 7.0

(D)4 >68% 71#%# (E)/* 6931 72%#

K% 37 4L > R4 F 2 Internal rate of return % @ ?

(A) 4> 18%3% 19%  (B)+ 3+ 19%  (C)4 *t 17%3 18%

(D) * >+ 16% (E) /i »+ 16%32 17%

K% 37 4L > R4 F 2 External rate of return % i ?

(A) 4> 18%3% 19% (B)< 3+ 17%  (C)4 ** 17%3 18%

(D)~ >+ 16% (E) 4 >+ 16%3 17%

2o &R (TOM) g g e & K > T 5] L F?

(A)#§:xi B2 %¥ (C) kSR (D) e (E)BIFf & IF

¥ 6 F % 87F



(CDE)41 ~

(ABD)42 -

(BCD) 43 -

(BD)44 ~

(AC)45 -

(BDE)46

(AD)47

(DE)48 ~

(ABC)49 ~

(DE)50 ~

(ACD)51 ~

P4l % FHA(MRP > Material Requirement Planning)iﬁa?] »>E g T 2.7

(A) Production activity control (PAC) (B) Operations sequencing (OS)

(C) the inventory status (D) BOM (bill of material) (E) MPS

Pkl 2 £ 3] (MRP » Material Requirement Planning)iﬁia?] e Z T IR P 2 PEARE
HE?

(A) Raw material (B) Parts (C) Machine (D) Subassemblies (E) Work force

% %34 ¢ 2 1R i85 (Critical path) %

(A) The shortest path in the project network (B) The activity on this path has zero slack

(C) Any delays along the path will delay the completion time of the project

(D) The longest path in the project network (E) The activity on this path has the largest slack
SR B

AEe4 i B)~2242 C)2pkit2 i DO)3fi 24 (E)F%L 4

- A &2 # F KK 5 D=10,000 units > # 24 & i F 2 P=25000units > £4FF F b~ A G
HE %8102 40%  + &2 &2 FT R~ 58500 plH gdd ApE LW

(A)4*+ 2,000 = 2,100 (B)=**"2,100 (C) ] *+ 2,100

(D)= *+ 2,200 (E)4 *t 2,100 3 2,200

KHASAEL o R ARG 2 E G A ALY

(A)4*+ 2,000 = 2,100 (B)=**"2,100 (C) ] ** 2,100

(D) *+ 2,200 (E)4 *t 2,400 % 2,500

A ASRE o R A AR B EA A R @Y

(A4 432 5= (B)=*5=x(C)|* 4= (D)~*4=x (E)/i* 53 6=
BoOEFORZER- AR FE TR FLER R?

(A)T =28 (B)F ik (C)%E e (D)% £ # (BE)23E

BRI Y o H R EK e 7 7

(A) Proportionality (B) Additivity (C) Certainty (D) Uncertainty (E) Discreteness

& fe i® 3 (The assignment problem) ¥ & * = 7| fw &3 2 £f&?

(A) Dijkstra’s algorithm  (B) Augmenting path algorithm (C) Steepest descent method
(D) Hungarian method  (E) Transportation simplex method

T PR A G B 2 AR A AE(Minimum cost flow problem)z. 4% 1] ?

(A)Assignment problem (B) Generalized assignment problem (C) Shortest path problem

(D) Maximum flow problem (E) Product-mix problem
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(ACE)52 ~ % — e F 5 H ¥ = ipA fe ™ 7|98 Aol & f?
(A)T 28k T
(B) ot~ *+ Aoiic
(C)7 i fk ] >t Bl
(D)P ik~ 3t B
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